
Scientific Notation (B)Convert each number from scientific notation to an ordinary number.
5.14 × 10⁻³ = 3.63 × 10⁴ =

8.8 × 10⁸ = 8 × 10⁻⁷ =
1.963 × 10⁻⁵ = 2.888 × 10⁶ =
6.89 × 10⁻⁶ = 5.2 × 10⁶ =
6.72 × 10⁻⁷ = 9.1 × 10⁸ =

1.212 × 10⁻⁸ = 3.51 × 10⁸ =
5.37 × 10⁻⁴ = 5.1 × 10⁻⁸ =
8.806 × 10⁴ = 7.49 × 10⁻⁴ =
3.4 × 10⁻⁸ = 6.713 × 10³ =
8.36 × 10⁵ = 6.48 × 10⁶ =
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Scientific Notation (B) AnswersConvert each number from scientific notation to an ordinary number.
5.14 × 10⁻³ = 0.00514 3.63 × 10⁴ = 36,300

8.8 × 10⁸ = 880,000,000 8 × 10⁻⁷ = 0.0000008
1.963 × 10⁻⁵ = 0.00001963 2.888 × 10⁶ = 2,888,000
6.89 × 10⁻⁶ = 0.00000689 5.2 × 10⁶ = 5,200,000
6.72 × 10⁻⁷ = 0.000000672 9.1 × 10⁸ = 910,000,000

1.212 × 10⁻⁸ = 0.00000001212 3.51 × 10⁸ = 351,000,000
5.37 × 10⁻⁴ = 0.000537 5.1 × 10⁻⁸ = 0.000000051
8.806 × 10⁴ = 88,060 7.49 × 10⁻⁴ = 0.000749
3.4 × 10⁻⁸ = 0.000000034 6.713 × 10³ = 6,713
8.36 × 10⁵ = 836,000 6.48 × 10⁶ = 6,480,000
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